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Q.1 Based on the given venn diagram, which of the following statement(s) is/are

correct?
I. The number of metals which are both brick and wall is 9.

Il. The number of walls which are not brick is 129.

82
57 — Wall
9
47 51
Metal 93 Jrage
Ans ¢ A Only
X B.Bothlandll
2< C.Only Il

X D Neither I nor Il

Question ID : 1034357194

Q.2 Aseries is given with one term missing. Select the correct alternative from the

given ones that willcomplete the series.
Z49,D90,H131,L172,P213,?

Ans X A S254
o B.T254
X C.T244
X D.S244

Question ID : 1034357180
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Q.3 Inthefollowing question below are given some statements followed by some
conclusions based on those statements. Taking the given statements to be true
even if they seem to be at variance from commonly known facts. Read all the
conclusions and then decide which of the given conclusion logically follows the given
statements.

Statements:
I. AllP areS.
Il. AllP are Q.
Conclusions:
|.Some Q are S.
I. All S are Q.

Ans X A. Both conclusion | and Il follows
&’ B. Only conclusion | follows
25 C.Only conclusion Il follows

X D. Neither conclusion follows
Question ID : 1034357189

Q.4 Inthefollowing question, select the odd word from the given alternatives.
Ans X A Trapezium

\L/ B. Circle
X C.Square

X D. Rectangle

Question ID : 1034357182

Q.5 Sixpersons P1,P2, P3, P4, P5 and P6 have different salary. The salary of P2 is more
than the salary of P4 and P6. The salaryof P1is less than the salary of P3. The
salary of P4is more than the salary of P5. The salary of P2 is less than the salary of

P1. The salary of P5is more than the salary of P6. Who has the fourth lowest
salary?

Ans X A PS5
Jt _’i‘j
X C.P1
X D.P4

Question ID : 1034357186
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Q.6 If amirroris placed on the line AB, then which of the answer figures is the right
image of the given figure?

A
I[N
a]

B

Ans AD
v A hy

[[v]D>
AD
X 8. AN
|| v1p
A0
A G 91
e
AC]
XD 9,9
[[v]p

Question ID : 1034357199

- -

Q.7 Eight girls A, B, C, D, E, F, G and H sit in arow facing towards the north (not
necessarily in the same order). Four girls sit between D and H. Two girls sit between
H and B. G sits third to the left of A. Eis the neighbour of D. F sits third to the right
of C.Bsits to the immediate left of A. Which of the following statement is
correct?
I. C and E sit at the extreme ends.
II. Two girls sit between B and C.

Ans X A.Onlyll
& B.Only
X C.Bothland Il
2% D. Neither I nor Il

Question ID : 1034357188
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Q.8 Inthefollowing question, select the odd figure from the given alternatives.

Ans O O
X A
O
OO0
x5 |O00O
O
000
vc [O0O
OO0
O O
X D. O
O O

Question ID : 1034357197

Q.9 Seven persons A, B, C, D, E, F and G live on seven different floors of a building. The
lower most floor is numbered 1, the floor above it is numbered 2 and so on. No two
persons live on same floor. Two persons live between A and D. A lives above D. One
person lives between B and G. Two persons lives between G and F. C lives above E but
not just above E. B live on the third floor. Who lives on the sixth floor?

Ans X A G
XB.A
v CC
X DE

Question ID : 1034357187
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Q.10 If amirror is placed on the line AB, then which of the answer figures is the right

image of the given figure?

G A
<O

Ans)(A_4E>
A A
”-<]O
M-<]O
g Vv
0

& |
A V]

Q.11 Aseries is given with one term wrong. Select that wrong term from the given

alternatives.
5,17,37, 65,99, 145

Q.12 How many nights are days, but not rivers?

\ 33 /f—Day

MQ
49 \B/ 35
7 "7 —Night
38
3 —River
Ans & A 28

X B.35

X C.112

X D119

Question ID : 1034357198

Question ID : 1034357191

Question ID : 1034357193
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Q.13 Inthe following question, select the related word pair from the given alternatives.
Paper :Pulp = ?

Ans X A Furniture: Brick
X B. Leather: Shoes
X C.Gold: Jewellery

o D. Metal : Ore
Question ID : 1034357184

Q.14 Aseries is given with one term wrong. Select that wrong term from the given
alternatives.
ZCM, EIT, JOA, OUH, TAP, YGV

Ans X AEIT
X B.OUH
X C.Yev

o D.TAP

Question D : 1034357181

Q.15 Inacertain code language, ‘'he is bad’ is writtenas ‘& # $', 'is you bad girl' is written
as 'O $#+', 'girlis going’ is writtenas ‘# © *. What is the code for ‘you going’in that

code language?
Ans X A #+

XNB.*$
XC+€
.V’?;J'

Question ID : 1034357185

Q.16 Inthe following question below are given some statements followed by some
conclusions based on those statements. Taking the given statements to be true
even if they seem to be at variance from commonly known facts. Read all the
conclusions and then decide which of the given conclusion logically follows the given
statements.

Statements:

. Some AareD.
Il. AllAareF.

Il. Some F are G.
Conclusions:

. Some Aare G.
Il. SomeDareF.
Ill. Some G are D.

Ans X A. Neither conclusion follows

& B. Only conciusion || fc lows
25 C. Only conclusion Ill follows

2% D.Only conclusion | follows

Question ID : 1034357190
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Q.17 Raman walks 25 metre towards the south. He turns to the left and walks 40 metre.
He turns to the left and walks 60 metre. He turns to the right and walks 20 metre.
He turns to the right and walks 35 metre. Finally, he turns to the left and walks 19
metre. Which of the following statement is correct?
I. The starting point is 79 metre to the west of the finishing point.
1. After fourth turn, Raman will face towards the south.

Ans X A Onlyl
< B.Only Il
25 C. Neither | nor Il

v? D. Both | and ||

Question ID : 1034357196

Q.18 Inthe following question, a group of letters is given. The letters of each group are
related with the letters of the same group by some Logic/Rule/Relation. From the
given alternatives, select a group of letters which follows the same
Logic/Rule/Relation.

(EP.FR, GT)

Ans ‘y; i:'ﬂig‘{rl
X B.(QS, RU, SX)
X C.(JL KM, LO)

/X D.(ZC, AE, BF)

Question ID : 1034357183

Q.19 Raman and Naman start walking in opposite direction from point A. Raman walks 4
km and Naman walks 5 km. Raman turns to the right and walks 6 km. While Naman
turns to the left and walks 6 km. What is the distance between Raman and Naman
now?

Ans X A 12km
X B.5km
X C.23km
 D.9km

Question ID : 1034357195

Q.20 Inthe following question, select the odd group of numbers from the given
alternatives.

Ans X A.(73,197,345)
X B. (67,1971, 339)
X C. (131,255, 403)
o D.(29, 153 299)

Question ID : 1034357192
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Q.1 Nizam - Ul - Mulk Asaf Jah, was the founder of state ______ 2
Ans ¢ A Hyderabad

/X B.Delhi

X C. Bengal

X D. Awadh

Question ID : 1034357211

Q.2 Headquarter of IUCN is situated in
Ans ¢ A Gland
X B. Paris

X C.Vienna
25 D. Nairobi

Question ID : 1034357214

Q.3 Which of the following element has maximum atomic radius?
Ans X A Na

& B.Cs

X C.Rb

X D.Li

Question ID : 1034357204
Q.4 Who among the following person is also called ‘Birdman of India’?
Ans X A Dr Srikrishna Singh

X B.C.F Andrews
X C. Ashutosh Mukherji

v 4 D. Dr. Salim Ali

Question ID : 1034357213

Q.5 Privatisation of the public sector enterprises by selling of f part of the equity of
PSEs to the public is known as

Ans X A Liberalisation

X B.Investment

y ( Jisinvestment
/X D Globalisation

Question ID : 1034357202
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Q.6 Which of the following state will host Khelo India Youth Games 2021 (to be played in

February 2022)?
Ans X A Goa

X B. Manipur
X C.0Odisha

 D. Haryana

Q.7 Inwhich of the following archaeological site ‘Dockyard’ was found?

Ans X A. Harappa
o B. Lothal
X C.Kalibangan
< D. Mohenjodaro

Q.8 Which pair of monument - state is correct?
Ans X A Gingee Fort - Karnataka

25 B.Victoria Memorial - Punjab
/X C.Bahai Temple - Himachal Pradesh

«” D. Mehrangarh Fort - Rajasthan

Q.9 Manika Batra is associated with which sports?

Ans X A Tennis
X B. Football
«” C. Table Tennis
25 D. Cricket

Q.10 Which of the following statement is correct?

I. Alandmass bounded by sea on three sides is called peninsula.
I1. The highest peak in the Eastern ghat is Anai Mudi.

Ans & A Onlyl
X B. Neither | nor Il
/< C.Onlyll
X D.Bothlandll

Question ID : 1034357219

Question ID : 1034357210

Question ID : 1034357201

Question ID : 1034357218

Question ID : 1034357209

@Teacningninia.in




Q.11 In April 2021, who among the following has been selected as external auditor for
OPCW?

Ans X A Shri Manoj Kumar
/X B.Pragati Singh

o C G.C. Murmu
/X D.Ratnish Mahajan

Question ID : 1034357215

Q.12 Zaskaris a tributaryof ______ river.
Ans ¢ A Indus

/X B Brahmaputra

X C. Godavari

< D. Krishna

Question ID : 1034357208

Q.13 Melting point of chloroform s
Ans X A 309K

X B.409K

o C. 200K
X D.509K

Question ID : 1034357205

Q.14 Average height of Inner Himalayasis ______ "
Ans ¢ A 6000 metres

X B. 8000 metres

X C. 5000 metres

25 D. 4000 metres

Question ID : 1034357207

Q.15 Which of the following statement is correct?
I. Method of making compost from kitchen garbage using redworms is called

vermicomposting.
Il. Plastics cannot be converted into less harmful substances by the process of

composting.
Ans ¢ A Both land |l

/< B.Onlyll

/5 C.COnlyl
/X D. Neither I nor Il

Question ID : 1034357206
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Q.16 Which pair of schedule in Indian constitution - subject is correct?
I. First schedule - The state
I1. Eighth schedule - Language

Ans X A Only|
& B.Both land |
X C. Neither | nor |l

< D.Only Il

Question ID : 1034357217

Q.17 “Lotia" is a regional music of which state?
Ans X A Chhattisgarh

X B.Uttar Pradesh
X C.Goa

«” D. Rajasthan

Question ID : 1034357200

Q.18 The colour of new Rs. 2000 note in the Mahatma Gandhi (new) series is
Ans A Magents

X B.Red

X C. Green

X D. Stone grey
N 4

[ Question ID : 1034357203

Q.19 Which of the following is NOT a fundamental right mentioned in constitution of
India?

Ans X A Right against exploitation
X B.Right to freedom
«” C. Right to property

25 D. Right to equality

Question ID : 1034357216

Q.20 Which of the following statement is correct?
I. Nadir Shah plundered the city of Delhiin 1739.
Il. Ahmad Shah Abdali was a Afghan ruler.

Ans X A.Onlyl
/< B.Onlyll

o’ C Both land Il
/X D. Neither I nor Il

Question ID : 1034357212
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Q.1 Rs. 70000 is divided among P, Q and R such that P's share is 2/5 of total share of Q
and R together and Q's share is 3/7 of total share of P and R together. What is the
share of R?

Ans X A Rs.9000
X B.Rs. 19000

/< C.Rs. 39000

Question ID : 1034357229

Q.2 Some boys can complete a work in 46 days. If there were 26 boys more, then the
work could be finished in 26 days less. What was the number of boys in the
beginning?

Ans 7 A 20
X B.17
X C.18

X D.10

Question 1D : 1034357234

Q.3 Asumof Rs. 10000 is invested in a scheme of simple interest. Therate of interest
in this scheme is 20 percent per annum. If Rs. 4000 interest is obtained, then for
how many months is the sum invested?

Ans X A 28 months
X B.30 months
X C.18 months

o D. 24 months

Question ID : 1034357231

Q.4 Aperson can cover a distance of y km in 10 hours. He increases his speed by 10 m/s
and covers the same distance in 4 hours. Which of the following statement(s) is/are
correct?

I. The value of y is 240.
Il Original speed of the personis 24 km/hr.

Ans X A Only|
/5 B. Neither | nor Il
o C.Beth land Il
X D.Onlyll

Question ID : 1034357233

Q.5 The population of adistrict is 150000. 60 percent of the population is literate.
75000 of the population are females. If 80 percent females are literate, then how
many men are literate?

Ans X A 50000
 B.30000
X C.60000
X D. 75000

Question ID : 1034357227
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Q.6 If the number 9871Y is exactly divisible by 9, then what can be the value of Y?
Ans X A S

X B.4
Xc3
0.2

Question ID : 1034357221

Q.7 The bar graph given below shows the income and saving of 7 different companies.

1000
900
800
700
600
400 400
300 300 300
200 200
100 100
Cl1 Cl G ¢4 G5 c6 C7

Olncome O Saving

Expenditure = Income - Saving

Which of the following statement is correct?

I. The average of income of companies C2,C3 and C6is 700.

Il. The sum of expenditure of all the 7 companies is 3100.

I1l. The difference between total expenditure and total saving of all 7 companies is
1500.

Ans ¢ Al lland lii
X B.land Il
X C.lland Il
X D land |l

Question ID : 1034357239

8
Area of aregular hexagon is 15073 em? - What is the side of this regular

hexagon?
Ans X A 12cm

X B.15cm

& C.10cm
X D.16cm

Question ID : 1034357235
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9 5 . .
S What is the digit at the unit place (] 1% % 337 x 555-‘ ) ?

Ans X A6
X B.8
o C.5
X DO

Question ID : 1034357224

Q.10 Selling price of an article is Rs. 1452 and discount of 12 percent is offered. What is
the marked price of the article?

Ans X A Rs.1600
« B.Rs. 1650
X C.Rs. 1780
/X D.Rs. 1700

Question ID : 1034357225

Il

Q.11
What is the value of :fg ;:E + tﬁ i ;."%

Ans X A 18
X B.9
NC5
o D.10

Question ID : 1034357222

Q.12 Atrain crosses a pole in 17 seconds and a platform of length 440 metre in 37
seconds. What is the speed of train?

Ans X A 24m/s
X B.32m/s
X C.28m/s
« D.22m/s

Question ID : 1034357232
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Q.13 The table given below shows the cost price and profit percentage of 6 articles.

, Cost Profit
Article .
price | percentage
P 600 20
Q 700 30
R 550 10
S 400 40
T 300 50
U 800 15

Selling price = Cost price + (Cost price x Profit percentage)/100
J1=The difference between cost price and selling price of all 6 articles.
J2 = The average of selling price of article P, Q,R,SandT.

What is the value of (J1 - J2)?

Ans X A 182

 B.166

Question ID : 1034357237

Q.14 If a number is divided by 5, the remainder is 2, then what will be the remainder when
square of the same number is divided by 5 again?

Ans X A2
X B 1
.8
& D.4

Question ID : 1034357223

Q.15 Radius of solid sphereis 14 cm. 6 times of the volume of this sphere is equal to the
volume of solid cone. If the radius of base of cone is 28 cm, then what will be the
height of this cone?

Ans X A 63cm
X B 42cm
X C.21cm

™ 4 D. 84 cm
Question ID : 1034357236

Q.16 In a party hall, there are people in blue and red dresses. The ratio of number of men
in blue to the number of womeninredis 4:7. The ratio of meninred to the number
of womenin blueis 3:2. If the ratio of number of people in blue to the number of
peopleinredis 106 : 176, then what is the ratio of number of men to the number of
women?

Ans A 125:15
X B.112:125
X C.125:149

X D.132:97

Question 1D : 1034357230
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Q.17 The line chart given below shows the number of males teacher in 6 dif ferent
schools.

600
®

The number of male teachers in S1is what percentage of number of male teachers

in $4?
Ans X A. 30 percent
y B. 300 percent

2 C.33.33 percent

/X D. 66.66 percent

Question ID : 1034357238

Q.18 Ram had a loss of 12 percent by selling his cycle for Rs. 7744. If he sells it for Rs.
9000, then what would be the profit percent?

Ans X A 2.5 percent
" B. 2.27 percent
X C. 6.66 percent
/25 D.3.33 percent

Question ID : 1034357228

Q.19 What should be subtracted from 120 so that the number obtained will become equal
to 50 percent of 70?

Ans X A 65
X C.75
X D.94

Question ID : 1034357226

Q.20 What is thevalueof 88+ 8+ 5-9+ 3x2?
Ans X A8

¢ B.10
X C.12
X D11

Question ID : 1034357220
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Q.1 Asentence has been given with a blank to be filled with an appropriate word. Choose
the correct alternative.
Theroomin hotel was so that | have to shift to another hotel.

Mms KhAmst 000
X B.thin
X C.adequate
v 4 D. compact

Question ID : 1034357244

Q.2 Inthe given question, four words are given out of which one word is correctly spelt.
Choose the correctly spelt word.

Ans X A Vantrilloquist
X B. Ventrilloquist

\Ly C. Ventriloguist
2< D. Vantriloquist

Question ID 1 1034357251

Q.3 Find the part of the given sentence that has an error init. If there is no error,
choose ‘No error’.
It will be ludicrous not (1)/to acknowledge the real threats (2)/the world is facing
right now (3)/.No error (4)

Ans X A3
X B.1
v C 4
X D2

Question ID : 1034357241

Q.4 Inthefollowing question, out of the given four alternatives, select the alternative
which best expresses the meaning of the Idiom/Phrase.
To have hollow legs

Ans X A Tolose weight
X B. Not fond of travelling
/X C.Todeny one's mistake

«” D. To have a large appetite
Question ID : 1034357253

Q.5 Inthefollowing question, out of the given four alternatives, select the alternative
which best expresses the meaning of the Idiom/Phrase.
Lion hearted

Ans X A Fearful
X B.Emotional
o C.Brave
X D. Cunning

Question ID : 1034357252
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Q.6 Asentence has been given with a blank to be filled with an appropriate word. Choose

Ans

the correct alternative.
The jury

deciding how they want to judge.

X A has
X B.was
o C.are
X D.will

Question ID : 1034357245

Q.7 Choose the word that can substitute the given sentence.

Ans

Chemistry in ancient times

X A Palaeclogy
X B. Abysmal
X C.Taxonomy

«” D. Alchemy

Question [D: 1034357254

Q.8 Findthe part of the given sentence that has an errorinit. If there is no error,

Ans

choose ‘No error’.
She said that (1)/ she had never (2)/tried that chocolate (3)/. No error (4)

X A3
X B
V-?f 4
X D.2

Question ID : 1034357240

Q.9 Choose the word that is opposite in meaning to the given word.

Ans

Begrime

X A Crank
X B.Bedaubing
/X C.Doubling

o D.Clean

Question ID : 1034357249

Q.10 Choose the word that means the same as the given word.

Ans

Censure
A Rebuke
X B.Push
X C. Heed
X D.Instruct

Question ID : 1034357248
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Q.11 Rearrange the parts of the sentence in correct order.
Here the rocks
P:So smooth that in places they
Q:Resemble rolls of silk
R:By Ice and water
S: Are carved and polished

Ans ¢ A SRPQ
2< B.QSRP
X C.PQRS
X D.QRPS

Question ID : 1034357246

Q.12 Select the most appropriate option to substitute the underlined segment in the
given sentence. If no substitution is required, select ‘No improvement’ as your
answer.
| have not been given the documents by Ramesh.

Ans X A havenor been given the documents via
/< B.has not been gave the documents by

/X C.havenot been given the documents through

«” 0. No improvement

Question ID : 1034357243

V.

Q.13 In the given question, four words are given out of which one word is correctly spelt.
Choose the correctly spelt word.

Ans X A Sollemnn
" B. Solemn
X C. Sollemn

X D. Solem

Question ID : 1034357250

Q.14 Select the most appropriate option to substitute the underlined segment in the
given sentence. If no substitution is required, select ‘No improvement’ as your
answer.

He called to help if nobody came.

Ans X A.Noimprovement

«” B. for help when
X C.forhelpif
/5 D. to help untill

Question ID : 1034357242
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Q.15 Rearrange the parts of the sentence in correct order.
P: A page can have multiple lines.
Q: Apage is better measure of length of a book.
R: This is with respect to a line.
S:It is important to differentiate a line from a page.

Ans o A SPQR
X B QRPS
X C.SRPQ
X D.RQPS

Question ID : 1034357247

Comprehension:

Read the following information carefully and answer the given questions.

Theglass artist Sam Herman, who has died aged 84, was an important contributor to the
British craft renaissance of the 1960s and 70s. Studio ceramics (ceramics designed and
made by the same person) had been established as a new art form in Britain since the 20s
but it was not until the mid-60s that Herman brought the technology to work with hot glass
in studio to the UK from the US, enabling individual creative engagement with this
dangerous but alluring medium. His mature work was characterised by powerful flowing
forms with occasional figurative references and by vibrant colour and iridescent effects.
Herman appeared to work in an unpremeditated fashion, following his instincts, responding
above all to the ductility of the medium. At the University of Wisconsin at Madison (1962-
65) Herman had majored in sculpture under Leo Steppat and, more importantly, had taken
glass courses with Harvey Littleton, a potter whose father had been head of research at the
great Corning glass works, in upstate New York. But Littleton himself had seen small
family-run workshops in Murano, Italy, and was attracted by the neoprimitive inter-war glass
made by the French painter Maurice Marinot. With the technical help of Dominick Lahino he
set about creating a small tank furnace that made it possible for hot glass to be worked
outside the factory environment. Herman arrived from Wisconsin on a Fulbright scholarship
in 1965 to study cold glass techniques at Edinburgh College of Art, becoming an
ambassador for hot glass made in studio. He organised a show of work by his fellow
students and tutors from Wisconsin that toured from Edinburgh to Stourbridge College of
Art, in the West Midlands, and to the Royal College of Art in-London.

There it was seen by the head of the ceramics and glass department at the college, David
Queensberry, who immediately recognised the potential of direct engagement with hot glass
and invited Herman to become a research fellow. In 1966 Herman built a small tank furnace
at the college and in 1967 became tutor in charge of a reconfigured glass department. The
first degree show at the RCA that included student-made hot glass - by Pauline Solven,
John Cook and Asa Brandt - took placein 1968.

SubQuestion No : 16
Q.16 Which word can replace the word ‘alluring’ meaningfully in the passage?
Ans X A Repelling

«” B. Enchanting
X C. Abominable
/< D. Ponderous

Question ID : 1034357259
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Comprehension:

Read the following information carefully and answer the given questions.

The glass artist Sam Herman, who has died aged 84, was an important contributor to the
British craft renaissance of the 1960s and 70s. Studio ceramics (ceramics designed and
made by the same person) had been established as a new art form in Britain since the 20s
but it was not until the mid-60s that Herman brought the technology to work with hot glass
in studio to the UK from the US, enabling individual creative engagement with this
dangerous but alluring medium. His mature work was characterised by powerful flowing
forms with occasional figurative references and by vibrant colour and iridescent effects.
Herman appeared to work in an unpremeditated fashion, following his instincts, responding
above all to the ductility of the medium. At the University of Wisconsin at Madison (1962-
65) Herman had majored in sculpture under Leo Steppat and, more importantly, had taken
glass courses with Harvey Littleton, a potter whose father had been head of research at the
great Corning glass works, in upstate New York. But Littleton himself had seen small
family-run workshops in Murano, Italy, and was attracted by the neoprimitive inter-war glass
made by the French painter Maurice Marinot. With the technical help of Dominick Labino he
set about creating a small tank furnace that made it possible for hot glass to be worked
outside the factory environment. Herman arrived from Wisconsin on a Fulbright scholarship
in 1965 to study cold glass techniques at Edinburgh College of Art, becoming an
ambassador for hot glass made in studio. He organised a show of work by his fellow
students and tutors from Wisconsin that toured from Edinburgh to Stourbridge College of
Art, in the West Midlands, and to the Royal College of Artin London.

There it was seen by the head of the ceramics and glass department at the college, David
Queensberry, who immediately recognised the potential of direct engagement with hot glass
and invited Herman to become & research fellow. In 1966 Herman built a small tank furnace
at the college and in 1967 became tutor in charge of a reconfigured glass department. The
first degree show at the RCA that included student-made hot glass - by Pauline Solven,
John Cook and Asa Brandt - took place in 1968.

SubQuestionNo : 17
Q.17 According to the passage, all statements are correct EXCEPT:

Ans & A In 1966, Herman became tutor in charge of a reconfigured glass deparfifiedt.
X B. Before mid-60s there was no technology to work with hot glass instudioin the UK.

X C. Harvey Littleton's father was the head of research at the greatCorning glass works
in New York

/X D.Occasional figurative references were seen in the wotk of Herman.

Question ID : 1034357257
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Comprehension:

Read the following information carefully and answer the given questions.

The glass artist Sam Herman, who has died aged 84, was an important contributor to the
British craft renaissance of the 1960s and 70s. Studio ceramics (ceramics designed and
made by the same person) had been established as a new art form in Britain since the 20s
but it was not until the mid-60s that Herman brought the technology to work with hot glass
in studio to the UK from the US, enabling individual creative engagement with this
dangerous but alluring medium. His mature work was characterised by powerful flowing
forms with occasional figurative references and by vibrant colour and iridescent effects.
Herman appeared to work in an unpremeditated fashion, following his instincts, responding
above all to the ductility of the medium. At the University of Wisconsin at Madison (1962-
65) Herman had majored in sculpture under Leo Steppat and, more importantly, had taken
glass courses with Harvey Littleton, a potter whose father had been head of research at the
great Corning glass works, in upstate New York. But Littleton himself had seen small
family-run workshops in Murano, Italy, and was attracted by the neoprimitive inter-war glass
made by the French painter Maurice Marinot. With the technical help of Dominick Labino he
set about creating a small tank furnace that made it possible for hot glass to be worked
outside the factory environment. Herman arrived from Wisconsin on a Fulbright scholarship
in 1965 to study cold glass techniques at Edinburgh College of Art, becoming an
ambassador for hot glass made in studio. He organised a show of work by his fellow
students and tutors from Wisconsin that toured from Edinburgh to Stourbridge College of
Art, in the West Midlands, and to the Royal College of Art in London.

There it was seen by the head of the ceramics and glass department at the college, David
Queensberry, who immediately recognised the potential of direct engagement with hot glass
and invited Herman to become & research fellow. In 1966 Herman built a small tank furnace
at the college and in 1967 became tutor in charge of a reconfigured glass department. The
first degree show at the RCA that included student-made hot glass - by Pauline Solven,
John Cook and Asa Brandt - took place in 1968.

SubQuestion No : 18

Q.18 As per the given information, which of the following pairs is incorrect?

Ans

X A. Dominick Labino- Technician
X B. Maurice Marinot- French painter
«” C. Asa Brandt- Head of Fashion Department

/X D. Harvey Littleton- Potter

Question ID : 1034357260
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Q.19

Ans

Comprehension:

Read the following information carefully and answer the given questions.

The glass artist Sam Herman, who has died aged 84, was an important contributor to the
British craft renaissance of the 1960s and 70s. Studio ceramics (ceramics designed and
made by the same person) had been established as a new art form in Britain since the 20s
but it was not until the mid-60s that Herman brought the technology to work with hot glass
in studio to the UK from the US, enabling individual creative engagement with this
dangerous but alluring medium. His mature work was characterised by powerful flowing
forms with occasional figurative references and by vibrant colour and iridescent effects.
Herman appeared to work in an unpremeditated fashion, following his instincts, responding
above all to the ductility of the medium. At the University of Wisconsin at Madison (1962-
65) Herman had majored in sculpture under Leo Steppat and, more importantly, had taken
glass courses with Harvey Littleton, a potter whose father had been head of research at the
great Corning glass works, in upstate New York. But Littleton himself had seen small
family-run workshops in Murano, Italy, and was attracted by the neoprimitive inter-war glass
made by the French painter Maurice Marinot. With the technical help of Dominick Labino he
set about creating a small tank furnace that made it possible for hot glass to be worked
outside the factory environment. Herman arrived from Wisconsin on a Fulbright scholarship
in 1965 to study cold glass techniques at Edinburgh College of Art, becoming an
ambassador for hot glass made in studio. He organised a show of work by his fellow
students and tutors from Wisconsin that toured from Edinburgh to Stourbridge College of
Art, in the West Midlands, and to the Royal College of Art in London.

There it was seen by the head of the ceramics and glass department at the college, David
Queensberry, who immediately recognised the potential of direct engagement with hot glass
and invited Herman to become & research fellow. In 1966 Herman built a small tank furnace
at the college and in 1967 became tutor in charge of a reconfigured glass department. The
first degree show at the RCA that included student-made hot glass - by Pauline Solven,
John Cook and Asa Brandt - took place in 1968.

SubQuestionNo : 19

Identify the correct statement about Sam Herman from the following.
|. He was a glass artist.

1l. He studied sculpture at University of Wisconsin at Madison.

11l. He arrived at Edinburgh College of Art to study cold glass techniques.

X A lland Il
< B.Only
& C.l lland Il
X D.landll
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Comprehension:

Read the following information carefully and answer the given questions.

The glass artist Sam Herman, who has died aged 84, was an important contributor to the
British craft renaissance of the 1960s and 70s. Studio ceramics (ceramics designed and
made by the same person) had been established as a new art form in Britain since the 20s
but it was not until the mid-60s that Herman brought the technology to work with hot glass
in studio to the UK from the US, enabling individual creative engagement with this
dangerous but alluring medium. His mature work was characterised by powerful flowing
forms with occasional figurative references and by vibrant colour and iridescent effects.
Herman appeared to work in an unpremeditated fashion, following his instincts, responding
above all to the ductility of the medium. At the University of Wisconsin at Madison (1962-
65) Herman had majored in sculpture under Leo Steppat and, more importantly, had taken
glass courses with Harvey Littleton, a potter whose father had been head of research at the
great Corning glass works, in upstate New York. But Littleton himself had seen small
family-run workshops in Murano, Italy, and was attracted by the neoprimitive inter-war glass
made by the French painter Maurice Marinot. With the technical help of Dominick Labino he
set about creating a small tank furnace that made it possible for hot glass to be worked
outside the factory environment. Herman arrived from Wisconsin on a Fulbright scholarship
in 1965 to study cold glass techniques at Edinburgh College of Art, becoming an
ambassador for hot glass made in studio. He organised a show of work by his fellow
students and tutors from Wisconsin that toured from Edinburgh to Stourbridge College of
Art, in the West Midlands, and to the Royal College of Art in London.

There it was seen by the head of the ceramics and glass department at the college, David
Queensberry, who immediately recognised the potential of direct engagement with hot glass
and invited Herman to become & research fellow. In 1966 Herman built a small tank furnace
at the college and in 1967 became tutor in charge of a reconfigured glass department. The
first degree show at the RCA that included student-made hot glass - by Pauline Solven,
John Cook and Asa Brandt - took place in 1968.

SubQuestion No : 20
Q.20 Who invited Herman to hecome aresearch fellow?
Ans & A David Queensberry

X B. John Cook
X C. Harvey Littleton

X D. Maurice Marinot

Question ID : 1034357256

Q.1 fumg ereel & 2peg ad= a1 =ua ffso
Ans X A &Il

o B. 3aged

X C. 3

/< D. srsgdr
Question ID : 1034357267

Q.2 feumy el @1 gl AH-dgd T4 hiforg|
Ans X A gadt

& B. 9243
X C.=zHre

X D.gege

Question ID : 1034357263
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Q.3 fau g aram &1 gy Fra fiforg)
9 &l gl A7
Ans X A pud
X B.39H
o C.7em
X D. 31 g%y

Question ID : 1034357268

Q.4 f&u g arers &1 @ @iTa RS
Mg 1Y TR & gl T |

Ans X A. fasa @
X B adam
o C. A

X D. urdH #e

Question 1D : 1034357271

Q.5 fagwg ereal # Qg @t 1 T ffSg
Ans X A 3TEY

X B R

X C. @R

0. IR

Question ID : 1034357265

Q.6 fau g are | g forrw fag &1 waa AifSg
B STHTA HT Juf HIA & Gt o1 ol shee § R hrag a1 aufs woft faeft 3 foram g

Ans X A
A B!
25 CA
v 0

Question ID : 1034357272

Q.7 faafaf@aws |, few ng o faeedt & &, 39 faerea &1 ga7 & &Y feg o qgrar & oref it
TINS T T <k &l B
a2 R 93 4T

Ans X A HF 8 5 g
X B.@gad a3t 3t 3
X C. 3vg-g1 &1l &t

o D GICEIE RG]

Question ID : 1034357274
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Q.8 feum erez & faetw ereg wrd fifdg)
arfay

Ans 2 A Rufiy
X B.afay
X C.am
X D.afay

Question ID : 1034357264

Q.9 fr=faf@ausrd, fag ng o fameal & &, 39 faeea &1 9o & oY fag g ggrak & oref &t

I T & ATF FT 2l
@ iz

Ans X A HeTl-del chgHl
X B. g WAl
o C. firsfireras anit wir

X D &3l #gAd &

Q.10 fa=fafaa areal d @ avat arera wi1a fifSw)
Ans X A S g gfwar A ot dir ofik ag @eft 1)
X B. gfar & urt o aik et 1)

X C. w9 gfar 4 ol dia, a9 g gt 131
o D. gfaar ot diew =@eft md

Q.11 fu v 2reg a1y w1d AT
feferan

Ans X A 3@
X B f&
X Cf

Q.12 fag g arers A Iugsh faera fag a1 aga Hifsg
H1g Y Ug 1 8

Ans X A7
X B.!
N EST

v D!

4

Question ID : 1034357275

Question ID : 1034357270

Question ID : 1034357261

Question ID : 1034357273
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Q.13 fmafaf@a araia & forg 3fRa areg & wg= Hifsg)

Ans

A I #ig & are
X A wAHlE
o B. 5°HIEF
X C.man
X D wdifR

Question ID : 1034357266

Q.14 frfaf@a araat & @ sy area ara fifsol

Ans

X A, &t o waw off dm F T8t @t
X B. &t w73 3R &g | 781 @t
X C. &dfl g g fow ot oo | 98t wnfh

o D et & ae 73 Fuiy & § 98wt

Question ID : 1034357269

Q.15 fEu g ereg Y wraaraes = Ard fifsg)

Ans

Q.16

Ans

ad

X Awd
X B.gdx
X C.@at
¢ 0. Td@

Question ID : 1034357262

Comprehension:

& TS o ma &1 erier & YR WR utd ue oy g g1 el it eneud e ue au1 U Uy & 9R
et 7 @ w8t faee 971

foneht oft 2 it argemmar ag gt & 5 33 v aret afdieniar AmRas aterd, Twgrd ofik aragR # erd €1
T QIy-a1y 39 227 &Y 3uft gy at 2T oft srie Srtasaer ga g1 od H fEdT € wepmm gt s
& oI g-oTerg @ Ferdiy 3R SRuTed U & S¥erk ad goft & aierd §1 gaferg f8dt vra i
TETHT B

881 ant <o ant TTRa e  waeiran S1Fal A srgn syfiren FRend &1 axga: & grr € wadaar &
o o7 T 3a Ared O & gaftAar ofk sl fararl @ ster-ue e @ 8 & fag ke @
forwg g <81 o6 28 g &1 =i sifgchaita 3 fewtran | werem wid, g a9, A faaw
anfe; sifgclemdt &1 311 wacran srfelem | & s &1 & v v arfSie gfaat § geart e
& forg 519 mgrqest 3 mgayl i g 399 @t fadere ok @nft game v o) gt A
gt ifeat i gz aeh forg STHT gRT 9IRd @bt =17 et fea R ag gt & oft ) wgrem wifeht
3 gl o aner - Skt aheft e A8 a9 et

St @ 281 anl uTd 8, ag fohedt gt o ant 2t et ke’ dfea SareReer 38w 3 16 78 99,1931
@l T Mideera ot forar o B8 3 s qofa: agsmer & it o oft &1 a1 ft gz stw 3 20 Rids?
1928 &t &gl o1, ' afe g a1, 79 9k o G vae o ot ag o o A8l o1 i @nediA g sik 3geht
g fgd ginfl

SubQuestion No : 16
Iudh eriar T 2fiefam ghm-
o A ey R
X B &
X C. & & e

X D. RaHTEr

Question ID : 1034357277
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Comprehension:

e eIt T T g1 Terer & SR WR Ut uH Gy 7Y &1 el i enydes ue auT Ul U & aR
ferenedt & Wt fehea T

fopaft oft 2 it e ag gl 8, O 39 3g are sifdemier AmRes aterd, aerd oiik sgagr | o £
TG TIY-TTY IG & T 3T TEATT AT g7 oft Sreda SaRaes g g1 o | dt € yanmra ot e
2 O de-olere § werdy SR SRUTHe U3 § e da @it o aierd &1 gafag & sika &Y
AETET &

&} apt <rgearar ot iR et & waraiar rfat 3 sign e P @1 aeqa: ) gr1 € wdar
Gu T ST AT 36k AT § g1 @it AT 3R il AR B eH-TeH ded o | {8 & forg mRa @
fawa ag ver foh 58 s et v ifgdrnftal 3 Remar) wgrem i, gz o, dienra fads
31T sifgdrmt & | 36 T srfater 3 fdl s et & v foka ) smifores gifeat € geart feem
& fore fom eI = weaqot yftte g 398 @ fadere ofR @it game v & gt @
qrifSies giforat et gy ek forg T ZRT IRd ot 7T e fiaw fRar gg i) & ot wgremm et
3 gl e angr AT kS eft e A8 a9 gedt)

St w88 ot e 8, g ot gadt v @Rt ¢t e Ganan | ufed satevee Agw A 16 7 941931
! T Mfdears @ fora o1- B 3 ara qofa: Trgsmar &t yfever o off 21 Aar sft g ot = 20 Bda
1928 &t gt T, afe gt a1, 7 ok o § e o @t ag R 2 A8l v s @i g ofk 3ghy
g f3ét gt

SubQuestion No : 17
Q.17 T anEter ® fora vrat &1 it femam)

Ans X A 3§
o B &
X C. st
X D. ¥

Question ID : 1034357280

Comprehension:

U TS e a1 eriar < SR U Ut ue g 7y §) e &l e ydes U qU Udlid 0 & 9R
faereat 7 & @l fered g4

fonelt oft e it e ag gt B, o S v aret arfesiar TR aterd, TETd ok SagR 7 ol 8
g ry-aTy 3G 321 Y ot et @t g ot Srcia sitasae ghar gl aa § 3 € ermm Qi e
& FOrg dig-ogra § ety 3R SRUITad WeaT ¥ STOeR deh Ol AT aierd &1 39Ty fgdl 9Rd 6t
AEITT &

&t g aht ke e H waEar gt 3 s e Red 81 axga: B9 gr & wdmdr e
e 18T AT 39 g1y 4 8 gt a1 ofR ifde ARl & srem-we aed o 86 & forg Ra &
forw Tg <@ o6 39 T ot I Hfge v | e | wgra i, gemwes &, A faaw
e afgétmdt & 3R wacran sifeler & B9 s &1 € vt fran) gmaifSe gdfdat @ gear Rem
& forg o= Agrqeyi 3 Agayul Yife Fes 399 @l Rders ok @rlt qame va o) gFl A
qrotes giferat ot g @ v T gIRT WRe oh 7 snenfeles i R ag 8 ) oft 1 wgremm wiieft
3 Y agl e hen AT 3kt ameft T A8 a9 GeRdt

S 21 8 ol T ¢, g foRedt gEet T aht gl A w1’ dfEd SrareRerd AgE A 16 7S 94,1931
i G TMifdeera o forar ur- B 3 s qofa: geamer &t ffet o «ff 81 Far Sft g gt 3 20 fder
1928 ot &gl o1, 'Ife g7 a1, 79 3R o & yae o ot g & oY 78] 51g wRa @refie ghm ofik 3Tet
g fedt gt

SubQuestion No : 18
Q.18 SiaTg¥eTe Jg% A &hd forar o "fgdt F ora yofa: rgsmar Y ftrer « «ft &1
Ans X A 164¢ 941932

X B.16 37 & 1931
X C.20 fadaz 1928

o D 1693541931

Question ID : 1034357279
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Comprehension:

e Tt T T g1 Terer & SR WR Ut U U 7Y &1 el a enydes Ue 9T U U & aR
ferenedt # & Wt faehea T

farefY oft are i arweqmr g gt 8, TG 397 v aret aifdierier ArTRes aterd, goerd ok egagr & o &)
3G TIY-TTY IG & &Y U AEATHT AT g7 oft S1da SaRaes g g1 o | fdt € yanmra ot e
2 O de-olere § Ay SR SRUTHe U § e da @it ol aierd §1 gafay fEd sika &Y
AETET B

& &t g a1 ke foe & waar Sfaa 3 orgn e Fad &1 axga: B8 gr € wamar an
Tud T8 | 3Hah " ¥ &1 @il Aar ofR wifaert faari & sem-vem wwd 9 86 & forg ke &
fawa ag ver foh 58 s &t v ifgdnftal 3 Remar) wgrem i, gz o, deara e
anfe sfgdremst &1 3R waesran srcker & R s a1 € v v arnfois gdfaat @ gear e
& forg ForT ezt & Heeyuf st Faé g w@nht e ok @ntt qame w9 2

g gRifaat ot gz e forg ST gRT 9IRel ot 1T et feia R ag g & oft) werem et
3 A agl e angr AT SRS el e A8 a9 ged)

St T 88t a8, ag et gadt vy Rt ¢ e ganan | dfed sateRee Agw A 16 7 W4 1931
I T Mfdears @t fora o1- & 3 o qofa: Trgsrar &t ayfiver o off 21 ar sft gz s = 20 fBde
1928 &t gt o1, afe ga a1, 79 8k o § vge o at ag R g A8l o1a s @i g sik 3gd
g faét gt

SubQuestionNo : 19

Q.19 forua wgT “afe g a9, 791 ok o= @ v forar &t ag & qr 76 o9 anea wnefi= g ofiz
Igeht wg v fgdt ghft"?

Ans X A @rfl fadarg
o B. guIEz &N
/X C. mgra mieht
X D. Sarezere Ag®

Question ID : 1034357281

Comprehension:

Tk ST o T &1 wTeier & SR OR Ut us U Y €)1 e e de Ug YT Udd Uy & 9R
farreat & gt feed 73

foref} oft e it arpemman ag gicht 8, O 3w v art siftrerier AmTRE dierd, Tugra ok sgagr & o &
TGch GIY-TTY 3G & &l U TEATHT T BT o 31 SHIaRTah BielT 6| MRd B foal 8 Yenra Ut amar
2 O Jeorere @ @Rty 3R SRUITEE UeaT § SRR ad 9ifl 77 aieid §1 gafe B8 oRa &
T &

&8 ot T &t ik foe & s Sanfat e ufte Feg 81 axga: B gr & @
G 18T AT 36 "1 1 8wl a1 ofR HifdeR! ARt &l sre-we wed 41 8t & forg mka @
fawg ug ver foh g8 argam ot 2 sifgcrnftal A femar) werem i, gz ats, denra e
anfe; srfgrmet o IHR Taar sieter & ek e v & s fora ) rnfove it @ geart e
& forg 1 It & weeyof sfftent fad I wanh Ride ofk @t carz g 9 @
TS Geifort oht g heeh forg WTHT ZTT WIRA ot 7T e (A foar ag & &t oft wgremm et
3 1 a8l o et T STl et aETen A8 a9 Tehdl |

St @ {281 ant o 8, 3 et gardt s ant gt et w1’ dfea saTeeel Agw 3 16 98 99,1931
! o Midear @i fora or- §é 3 o qofa: gsmom &t e o off &1 Far oft gumes a7 20 Bde
1928 &l &gl o1, 'afe gaAt I, 79 SR o G v i @ 9 T @ A8 o wd @A g oik Igdh
AT feet i

SubQuestion No :20
Q.20 “ 3t Foft TETaT TE o Tehar” R whgt?
Ans X A SIATEeETd HgE
o B. wgTcHn et
X C.gumes 4y
X D w@rit faears

Question ID : 1034357278
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Q.1 What is the preoperational stage in the context of Piagetian approach?
I. The second major stage of cognitive development.
I1. In this stage children become more sophisticated in their use of symbolic
thought but are not yet able to use logic.

Ans X A Neither nor |l
B. Both land Il

X C.Onlyl

X D Onlyll

Q.2 Which of the following statement describes the vision and hearing problems in
children?
I. Aimost 13 percent of children under 18 are estimated to be blind or to have
impaired vision.
Il. By the age of 3, children can focus better.

Ans X A Onlyll

" B.Only |
X C. Neither I nor Il

2 D.Bothlandll

Q.3 Inthe context of motor skill, what is handedness?
Ans X A. Used for broken car handle

X B.Using to hold bus handle

X C.Using for the kindness to help someone

o” D. Preference for using a particular hand

Q.4 Which of the following pair is correctly matched?
|. Stress - Response to physical or psychological demands.
Il. Stressors-Stress- Producing experiences.

Ans ¢ A Bothland Il
X B. Neither I nor |l
/& C.Only Il
X D.Only |

Q.5 Inthe context of children's Theory of Mind, which of the following statement is
correct?
I. It is the awareness and understanding of mental processes.
Il. Brazelton was the first scholar to investigate this theory.

Ans X A Onlyll
/< B. Neither | nor Il
o C. Only
25 D.Bothlandll

Question ID : 1034357289

Question ID : 1034357288

Question ID : 1034357283

Question ID : 1034357298

Question ID : 1034357292
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Q6 ______ is a chronic respiratory disease characterized by sudden attacks of coughing,
wheezing and difficulty in breathing.

Ans X A Black Cough
X B.COPD
X C.GERD

7 Asthma

Question ID : 1034357284

Q.7 Inthe context of cognitive advances, which of the following statement describe
categorization?

I. It helps children think logically.
1. It includes such sophisticated abilities as seriation, transitive inference and class

inclusion.
I1l. Transitive inference is the ability to understand the relationship between a whole

class and its parts.
Ans X A landll

X B.lllandll
X C.lland Il
o D.land|

Question ID : 1034357293

Q.8 What is the Wechster Intelligence scale of children?
I. Individual intelligence test for school children.
1. It yields verbal and performance scores as well as combined score.

Ans X A Onlyll
X B Neither | nor Il
X C.QOnlyl

 D.Bothlandll

Question ID : 1034357291

Q.9 What is social phobia?

Ans o A Extreme fear or avoidancef s@eial situations
/< B.Extreme fear of height
/X C. Extreme fear of thunder and lighting

/< D. Extreme fear of flying

Question ID : 1034357296

Q.10 Which of the following statement is correct in the context of Minor iliness?
I. Minor iliness typically last a few days and are seldom serious enough to need a

doctor attention.
Il. Cough, sniffles and runny noses are a part of early childhood.

Ans # A Bothland
X B.Onlyll
25 C. Neither I nor Il

X D.Only |

Question ID : 1034357282
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Q.11 Inthe context of Psychosocial development, Marcia found which of the following
identity status?

|. Foreclosure
Il. Moratorium

Ans X A.Onlyll
X B.Only|
o C.Both | and Il
2< D. Neither I nor Il

Question ID : 1034357295

Q.12 Which of the following protective factors can help children and adolescents
overcome stress and contribute to resilience?
I. Good family relationship
Il. Cognitive functioning

Ans X A. Neither | nor Il
25 B.QOnly Il
& C.Both land Il
< D.Only|

Question ID : 1034357300

Q.13 What is the neonatal jaundice?

I. Condition in many newborn babies caused by immaturity of liver and evidenced by
yellowish appearance.
Il. It can cause brain damage if not treated promptly.

Ans X A.Neither | nor |l
/X B.Only|
o C.Bothland Il
X D.Onlyll

Question ID : 1034357285

Q.14 Inthe context of memory, what is central executive?

I. In Baddeley's model, element of working memory that controls the processing of
information.

1. Strategies using working memory through conscious repetition.
Ans X A Onlyll

X B.Bothland Il

¥ 4 C.Only
< D. Neither I nor Il

Question ID : 1034357290
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Q.15 Inthe context of Emotional disorders, what is the childhood depression?
I. Mood disorders characterized by such symptoms as a prolonged sense of
friendlessness and fatigue.
Il. Anxiety aroused by repetitive, intrusive thoughts, images or ritual behaviors.

Ans X A.Onlyll
X B.Bothland |l
X C. Neither I nor Il

w.y’* D. Only

Question ID : 1034357297

Q.16 According to Marcia which of the following identity status is correctly matched?
I. Identity achievement - Characterized by absence of commitment and lack of
serious consideration of alternatives.

Il. Moratorium - A person is currently considering alternatives and seems headed
for commitment.

I1l. Foreclosure - A person who has not spent time considering alternatives is
committed to other people's plan for his or her life.

Ans ¢ A lland|
X B.land lll
X C.landll
X D lland Il

Question ID : 1034357301

Q.17 Which of the following principles of development is correct?
|. Cephalocaudal principle - Growth occurs from the down top.
Il. Proximodistal principle - Growth and motor development proceed from the
center of the body outward.

Ans X A Bothlandll

& 8.0nlyll
¥ C.Only|
25 D. Neither I nor Il

Question ID : 1034357286

Q.18 Which of the following is NOT correct?
I. Art Therapy is the therapeutic approach that allows a child to express troubled
feelings without words.
Il. Drug therapy is administration of drugs to treat emotional disorders.

Ans X A Onlyll

 B. Neither I nor |l
< C.Bothlandll

/5 D.Only!

Question ID : 1034357299

@Teacningninia.in




Q.19 According to Erikson ______ is a coherent conception of the self, made up of goals,
values and beliefs to which a person s solidly committed.

Ans X A Alteration
& B. Identity
X C.Variation

X D. Modification

Question ID : 1034357294

Q.20 Inthe context of the Brain and Reflex Behavior, which of the following statement is
correct?
|. Beginning about two weeks after conception, the brain gradually develops from
long hollow tube into a spherical mass of cells.
Il. The cerebellum grows fastest during the first year of life.

Ans ¢ A Bothland |l
X B.Onlyl
25 C. Neither | nor Il
X D.Only ll

Question ID : 1034357287

Q.1 Which of the following roles of a teacher similar to the roles and responsibilities of
a manager in an organization?
I. Giving priority to maintain discipline in the classroom.
I1. Providing feedback to students about their performance.

Ans X A Onlyll
/< B.Only|
o C.Both land Il
X D Neither I nor Il

Question ID : 1034357317

Q.2 How many chapters are there in The Right of Children to Free and Compulsory
Education Act, 2009?

Ans X A Eight

o B. Seven
X C.Six
X D. Five

Question ID : 1034357303
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Q.3 Which of the following is a teacher generated cause of indiscipline?
I. Indifference to problems of students.
Il. Poor teaching.
I1l. Discriminatory treatments.

Ans X A landll

X B.lland Ill
X C.Only|
& D. | lland|

Question ID : 1034357318

Q.4 The given sitting arrangement is effective for which type of activity in a school?
Students sitting in a semicircle facing other group of students sittingina
semicircle and teacher takes a middle position.

Ans X A Demonstration of an experiment
& B. Group competition
2% C. Solving problems on the bard

X D. Reciting stories and poems
Question ID : 1034357315

Q.5 Whenever a teacher gives a threat of punishment of failure, he/she is using
I. Positive reinforcement.
Il. Negative reinforcement.

Ans X A QOnly|

X B.Bothlandll
o C.Onlyll
X D Neither Inor Il

Question ID : 1034357313

Q.6 Which of the following statements is correct regarding the usefulness of
competency based approach?

Ans ¢ A Teaching - learning proces's isjoyfulland interesting
X B. Proficiency of a teacheris nota matter of concern
X C. Thestudents have to learn the same topic again and again

/X D. Thelearning climate in all schools is equally conducive for optimizing learning
Question ID : 1034357316

Q.7 Which of the following statements is correct regarding the cooperative learning
mode|?
|. Students work in groups to master academic materials.
Il. Reward systems are individually oriented rather than group-oriented.

Ans X A Neither [ nor |l
X B.Only i
X C.Bothland Il

0. Only

Question ID : 1034357319
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Q.8 Thefollowing statements are referring to which learning style?
‘Learner relies on intuition rather than logic. They set targets and actively work in

the field trying dif ferent ways to achieve an objective?
Ans ¢ A Accommodating style
X B. Assimilating style
/X C.Diverging style

X D. Converging style

Question ID : 1034357314

Q.9 Which approach of learning is called as self-Regulatory Learning (SRL)?
Ans X A Social Learning

25 B.Community Learning
X C. Group Learning

& D. Individual Learning

Question ID : 1034357321

Q.10 The book ‘Democracy and Education’is writtenby ______ .
Ans X A Rabindranath Tagore

& B. John Dewey
X C. Maria Montessori
X D. Mahatma Gandhi

[ Question ID : 1034357312

Q.11 Inthe Panchayati Raj System, the Ward members and the Panchayat president are
electedby _______

Ans X A thesecretary of Gram Sabha
X B. thedistrict officer
X C thePanchayat President

o D. the members of Gram Sabha

Question ID : 1034357302

Q.12 When was the Scheduled Castes and Scheduled Tribes (Prevention of Atrocities)
act enacted?

Ans o A 1989
X B.1990
X C.1988
X D.1980

Question ID : 1034357304
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Q.13 Which of the following statements is correct about provisions of Equalityin the

Constitution?
|. Every person is equal before the eyes of the law.
Il. Every person has access to public places.

Ans ¢ A Bothlandll
X B.Only i

X C.only!

X D. Neither I nor |l

Question ID : 1034357306

Q.14 Salend defines special education as characterized by ______ .
|. Specialized instruction
Il. Goal-directed instruction

Ans ¢ A Bothlandll
/X B. Neither [nor Il
/< C.Only Il
X D.Only |

Question ID : 1034357311

Q.15 Which of the following statements is correct about the Challenge of Democracy?

I. Countries can be described completely democratic.
Il. There are always communities and individuals trying to expand the idea of

democracy.
Ans o A Only
X B.Onlyl

X C.Bothlandll

X D. Neither [nor Il

Question ID : 1034357307

Q.16 Inold literature, a woman is never fit for independence is written in which religious
text?
Ans v A. Manusmrit
/< B.Rigveda
/X C.Ramayana

X D.Mahabharata

Question ID : 1034357309

Q.17 is defined as the probable number among every 1000 babies who would fail to

survive within the first year of being born.

Ans X A. Maternal mortelity rate
o B.Infant mortality rate

X C. Proportionate mortality rate

X D. Couse-specif death rate

Question ID : 1034357308
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Q.18 The given lines can be read in the book ‘'The Unschooled Mind. Which of the
following psychologist is the author of this book?
‘We must place ourselves inside the heads of our students and try to understand as
far as possible the sources and strengths of their conceptions’

Ans ¢ A Howard Gardner
X B. John Ruskin
X C. Thomas Henry Huxley
2 D. Martin Buber

Question ID : 1034357320

Q.19 Which of the following statements is correct about the causes of the Revolt of
18577
I. Religious interference.
Il. Racial Arrogance.
I1l. Equal pay.

Ans X A landll
 B.landll
X C.lland Il
X D.Only|

Question ID : 1034357305

Q.20 In which country, the term inclusive special education has been used to describe the
special education system?

Ans & A Finland
X B. Afghanistan
X C.China

X D. Nepal

Question ID : 1034357310

Q.1 Inthe context of mental abilities, which of the following types of intelligence is

correctly matched?
I. Linguistic - make it possible for individual to visualize, transform and the use

spatial information.
Il. Logic mathematics - allows individuals to use abstract mathematical relations.

I1l. Inter-personal - enables individuals the capacity for reflective understanding of
others and oneself.

Ans X Al llandlll
X B.land Il
X Clandll

o D.llanalll

Question ID : 1034357327
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Q.2 Inateacher centered approach what is the main characteristics?
I. Source of knowledge is teacher
Il. Active teachers gives information to passive students

Ans X A Qnlyll

‘/ B. Both land Il
/X C.Only|
X D. Neither Inor |l

Question ID : 1034357322

Q.3 Which of the following are the broader and narrower aims of mathematics
education?
|. Optimization
1. Use of heuristics
I1l. Estimation and approximation
IV. Representation

Ans X A llandlll

X B.lLlland IV
" 4 I, hand IV
X DI, llland IV

Question ID : 1034357338

Q.4 Inan environmental studies class, on which of the following themes small group
discussions can be arranged?
I. Is circus a cruelty to animals?
1. Should fast food be sold in school canteen?
I1l. Roads or Parks : what does our city need the most?

Ans X A Onlyl

X B.landll
o C | lland|
X D.lland Il

Question ID : 1034357341

Q.5 Which of the following is the characteristic of subject - centered approach?
I. The learning needs of these students are supposed to be fulfilled through the text
book.

Il. Teacher is mostly concerned with completion of the course contents.
Ans X A Neither I nor ll

X B.Bothland Il
vy nly
X D.Onlyll

Question ID : 1034357326
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Q.6 |If children are given an opportunity to interact by the teacher, which of the following
canresult?

Ans X A They will become used to writing more
& B. They will be able to express their feeling and thoughts
X C.They will become lazy

X D. They will expertise in a game

Question ID : 1034357334

Q.7 Which of the following subject structure is correct in Hindi?
Ans ¢ A Subject + object + verb

X B. Object + subject

X C. Subject + verb

< D. Verb+ object

Question ID : 1034357332

Q.8 What is the place value of 3 and face value of 2in 320?
Ans X A 300,20

X B.200,30
X C.200,3
« D.300,2

Question ID : 1034357335

II[

Q.9 Which of the following is a variety of the English language?
I. British English
Il. Australian English

Ans ¢ A Bathland |l
/X B.Onlyl
X C.Onlyll
X D. Neither I nor I|

Question 1D : 1034357331

Q.10 By which of the following a listner can understand a dialouge?
|. Based on words of dialouge
I1. Based on their previous knowledge

Ans X A.Onlyl
/< B.Onlyll

v C Both land Il
/X D. Neither I nor Il

Question ID : 1034357333
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Q.11 Aclassroom period may be needed to consolidate the learnings of the visit to the
field trip. Such a session may include which of the following?
I. Writing or drawing about the trip.
Il. Question-answer sessions.
I1l. Discussions.

Ans X A landll
 B.|lland|
X C.Qnly Il
2 D.Onlyll

Question ID : 1034357339

Q.12 is the ability to arrange similar objects in a definite order.

Ans X A Expulsion
o’ B. Seriatior
< C. Elevation

25 D. Emulation

Question ID : 1034357324

Q.13 Inthe context of listen and draw, drawing game, it helps.
I. Every one to work together.
I. The children have to listen.

Ans X A Onlyll
X B.Onlyl
X C. Neither I nor Il

& D.Both land ||

Question ID : 1034357329

.

Q.14 What is teacher - centered approach?
I. Everything in the class depends on the teacher.
Il. The student have little sayin any matter.

Ans X A Neither I nor |l
< B.Onlyli
«” C.Both land
X D.Only!l

Question ID : 1034357325

Q.15 Which of the following pair is correctly matched with their components of the
computer?
I. Input devices - Keyboard, Mouse, ROM
Il. Storage Devices - ROM, CD-R, CD-RW

Ans o A Onlyll
X B. Neither [ nor Il
X C.Bothland Il

X D.Onlyl

Question ID : 1034357323

@Teacningninia.in




Q.16 Which of the following sound is involved in the process of cooing or gooing?
I. uuuu
1. diii
Ans ¢ A.Both land |l
X B. Neither I nor Il

/< C.Only i
< D.Only!

Question ID : 1034357328

Q.17 ‘Find a2 x a? = ?; Explanation: From the law of indices, it is known that a™xa"=a™*
" Herea?xa'®=a?*10= 32! This scenario represents which method for teaching
and learning mathematics?

I. Inductive
Il. Deductive

Ans X A Neither Inor |l
X B.Bothland Il

& C.Onlyll
X D.Only|

Question 1D : 1034357336

=3

Q.18 What different methods can teachers use to help children remember new things all
the time?
I. Guessing
1. Classifying
I1l. Retribution

Ans X A llandIll

X Bl lland Il
¢ C.landil
X D.land |l

Question ID : 1034357330

Q.19 Environmental studies at the primary stage should have some sailent features.
Which of the following is not that feature?

Ans ¢ A It should not enhance the r3tlral curiosity

X B.Theage, mental level, aptitude, interest and abilities of the child should be the main
criteria for selecting the activities

/X C.ltshould develop the desired skills in children

X D. It should enable the child to adopt environment-friendly lifestyle

Question ID : 1034357340

@Teacningninia.in




Q.20 Which of the following processes are involved in problem solving?
I. Inferring
Il. Comparing
I1l. Observing

Ans Al llandll
X B.Onlyli
X C.land |l
X D.llandlll

Question ID : 1034357337

Q.1 Why midday meals are better than 'day rations'?
|. Midday meals prompt children to go to school on their own without much Cajoling
or coaxing from their parents.
1. Midday meals also make it easier to retain pupils at school after the lunch break.

Ans X A Onlyl
” B.Bath land Il
< C.Only i
X D. Neither I nor Il

Question ID : 1034357359

Q.2 Which of the following pair is correctly matched in the context of evaluation?
I. Continuous evaluation - The final grade at the end of the session
Il. Comprehensive evaluation - Regularity of assessment

Ans X A Bothlandll
/< B.Only|
X C.Only 1l

«” D. Neither | nor

Question ID : 1034357347

- = 4

Q.3 Name the Education Commission that recommended for providing training for
democracy?

Ans X A. Revised national policy (1992)
o B. University education commission (1948-49)
% C. National Policy on education (1986)

X D. TheIndian education commission (1964-66)

Question ID : 1034357344
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Q.4 Which of the following statements is correct regarding the physiological changes
that occur during adolescene?
I. These changes are triggered by the hypothalamus and endocrine glands.
Il. The rise in hormonal levels is found associated with the problem of acne in

adolescence.

Ans o A Baothlandll
/5 B.Only
X C.Qnly!

X D. Neither I nor |l

Question ID : 1034357357

Q.5 Which of the following statement is correct?
I. Games have to be selected depending upon available resources.
II. The season must be kept in mind while selecting the games.

Ans X A.Onlyll

o B.Both land Il
X C. Neither I nor Il

< D.Only|
Question ID : 1034357349

Q.6 Sufiis a performingart of
Ans \‘?? A. regional mus

X B.classical dance
X C.classical music

X D. puppetry

Question ID : 1034357346

Q.7 Which of the following pairs of ‘Country-Right to vote age'is correct?
I. India - 18 years
Il. Austria - 16 years

Ans X A Onlyll

o B.Bath land Il
2 C. Neither I nor |l
X D.Only |

Question ID : 1034357356

Q.8 Which of the following statement is correct in the context of Rasa?
I. Bharata muni outlined eight Rasas or states of emotion.
Il. The principal meaning of Karun Rasa is sadness.
I1l. Shant Rasa was proposed by Laksmanagupta

Ans X A llandlll

X B.llland i
X C.land |l
1\,,'7 D.land|

Question ID : 1034357348
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Q.13 Living soil invites endless queries among children in school gardens which of the
following are those queries?
|. How did those roots get down there?
1. If the garden floods, then what will happen to the worms?

Ans X A.Onlyl

« B. B th and |l
X C. Neither I nor Il

2< D.Only ll

Question ID : 1034357351

Q.14 To avoid falls at school, which steps should be taken?
I. Ramps for children with special needs
1. Volunteers should be appointed during lunch break
I1l. Stairs should have small steps

Ans X A.Onlyl
X B.lland Il
X C.Only

 D.I lland |

Question ID : 1034357360

Q.15 Pubertyrefers to physical changes that take place during ______ X
I. Early part of adolescence.
1. Childhood.

Ans X A Bothlandll
< B. Neither | nor Il
&« C.Only
X D.Only ll

Question ID : 1034357353

Q.16 Inthe context of subaltern perspective of social science, which of the following
statement is correct?
I. Subaltern school of thought don't glorify the British Empire and the their
educational policies.
Il. Subaltern perspective is aresponse from below to the hegemonic power of the
elite groups.

Ans X A Onlyl
X B.Bothlandll
‘/ niy Il
/X D. Neither I nor Il

Question ID : 1034357345

Q.17 Each round of boxing is of
Ans X A 4

X BS
& C3
X D2

minutes (excluding interval time).

Question ID : 1034357350
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Q.18 Which factors govern the intramurals?
|. Geography
Il. Climate
I1l. Time available

Ans X A Onlylll
X B.Onlyli
o C.| lland Il
X D.llandlll

Question ID : 1034357361

Q.19 Which subject can bring a sense of familiarity among the students with the entire
world?

|. World History
II. World geography

Ans X A.Onlyl
X B. Neither I nor Il
« C.Both land Il
75 D.Onlyli

Question D : 1034357343

Q.20 Which of the following statements is correct regarding the cognitive and
intellectual development in adolescents?
I. The gains in cognitive abilities are tremendous between the ages of 8 and 12.
Il. The information processing approach attempts to explain the cognitive strategy
by which human brain processes information.

Ans X A Bothlandll

X B.Onlyl
X C. Neither I nor |l

« D.Only

Question ID : 1034357358

Q.1 Physical labour done in any direction towards the production for oneself or societal
cause is considered as

Ans X A leisure

X B.restrict
X C rest

o D work

Question ID : 1034357365
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Q.2 Which commission realized the need for a big change in the academic form of
education?

Ans o A The Education Commission (1964-66)
X B. Secondary Education Commission (1952-53)
X C. University Education Commission (1948-49)

/< D. National Knowledge Commission (2009)
Question ID : 1034357367

Q.3 Name the person who quoted “Leadership is ultimately about creating a way for
people to contribute to making something extra ordrinary happen”.

Ans X A Abraham Lincoln
X B. Nelson Mandela
/< C. Ken Ogbonnia

o D. Alan Keitt
Question ID : 1034357375

Q.4 Maa -Beti Mela is a community initiative celebrated in which state?
Ans X A Andhra Pradesh

«” B.Madhya Pradesh
X C.Uttar Pradesh
X D Kerala

Question ID : 1034357377

Q.5 Which of the following Activities are the example of Social Science concepts?
|. Carpentry
Il. Pottery
I1l. Transportation.

Ans X A llandlll
X B.land Il
& C.l lland |l
X D.land i

Question ID : 1034357374

Q.6 What are the reasons for informing the students and parents about their progress?
I. To tell about achievements needs and behaviour
II. To maximize fear
I1l. To discourage both student and parents
IV. To help in making their future plans

Ans X Al Il lland IV
X B.lland Il
& C
X D.landll

Question ID : 1034357369
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Q.7 Tl afyar aam &t eafy Y Tonet e & a | at= a1 worar g7
Ans X A ffar vromam

X B. 2faet uromam
X C. Fqrerria aromary

L. oot omoram
Question ID : 1034357362

Q.8 Which of the following statement is correct in the context of teacher function?
I. The teacher effect the value consideration of the member in the schools system.
Il. He/she inspires parents, students and colleagues..

Ans X A Onlyl
/X B.Only Il
< C. Neither I nor |l
o D.Both land [l

Question ID : 1034357381

Q.9 Which of the following statement is correct, in the context of mother’s club?

Ans ¢ A Discussing on education related matters
/< B.gathering place of old citizens
X C. Aparty club

X D.ltis a health club for orphans
Question ID : 1034357368

Q.10 Astanding start is taken in all the medium distance races except ______ meter race.
Ans X A 3000

X B.5000
X C.1500

« D. 800
Question ID : 1034357364

Q.11 Which of the following factor of work education is correct?
I. It establishes coordination in hand and brain
Il. It is essential in learning processes

Ans X A Onlyll

< B. Neither I nor ||

X D.Onlyl

Question ID : 1034357366
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Q.12 Which of the following statement is correct in the context of fees?
I. In government aided school, grants-in-aid is given by the government or deficit

base principle.
Il. In private unaided schools, fees are always lower than the government aided

schools.
Ans 7 A Only
/5 B.Only
X C. Neither I nor |l
X D.Bothlandll

Question ID : 1034357380

Q.13 Which of the following is NOT the functions of School Management Committee?
I. Supervise the construction activities.
I1. Making education policies of the nation.
I1l. Monitoring children’s growth in different subjects.

Ans & A Onlyll
X B.Only!
X C.l land Il
X D.landll

Question ID : 1034357373

Q.14 Name the person who presented comprehensive Indian descriptions and
explanations of Leadership.
|. Burns
Il.Watson
I1l. Rost

Ans X A landll

X Bl lland Il
o C.landll
X D.lland Il

Question ID : 1034357376

Q.15 What are the advantages of Dhanurasana?
I. It gives new energy to the throat
Il. It cures tumor
II. It relieves gastric troubles

Ans 2 Al lland|
/¥ B.Only Il
X C.landll

X D.Onlyl

Question ID : 1034357363
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Q.16 Inthe context of knowledge, which of the following statement is correct?
I. Knowledge is comparahle with intelligence, knowledge is wisdom and wisdom is
marketable.
Il. Wisdom is infinite, it includes knowledge and the way of action.

Ans X A Bothland Il
« B.Only Il
X C. Neither I nor |l
2< D.Only |

Question ID : 1034357372

Q.17 Which of the following statement is correct in the context of education?
I. Education is a part of concurrent list.
Il. Both central and state government make laws for the educational institutions.

Ans X A Onlyl
& B.Both land Il
/< C.Only Il
X D. Neither Inor Il

Question ID : 1034357378

Q.18 Which of the following is a ‘Corpus fund’ endowed by an individual or family for a
good social cause?
I. Endowment
Il. Salary

Ans X A Neither Inor |l
X B.Bothlandll
X C.Only Il
¥ D. Only

Question ID : 1034357379

______ mould our thoughts and feelings from the tender age.
|. Opinion
Il. Tradition

Ans X A Neither [norll

« B.Both land |
X C.Only|
X D.Onlyl

Question ID : 1034357370

@Teacningninia.in




Q.20 Inthe context of fear, Which of the following statement is correct?

Ans

I. It cannot be eliminated through discipline, sublimation or through any other act of
will.

I1. It dulls the mind and heart so that we are not alert to the whole significance of
life.

< A.Only i
< B. Neither | nor Il
& C.Both land Il
/< D.Onlyl

Question ID : 1034357371
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